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Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following questions. 

1. I gave the waiter a $50 note and waited for my _________.


A. change 

B. supply

C. cash


D. cost

2. I'm going to stay at university and try to ________ off getting a job for a few years!


A. stay 


B. put


C. move


D. set

3. People can become very __________ when they are stuck in traffic for a long time.


A. nervous 

B. bad-tempered

C. stressful 

D. pressed

4. I believe that judges should be independent _________ the government.


A. to 


B. from


C. with


D. on

5. The MP asked ________ the prime minister was aware of the growing social problem.


A. that 


B. him 


C. if


D. what

6. Remind Tony about party _________.


A. incase 

B. unless

C. provided that 

D. except

7. The government should do more for ___________ people.


A. usual


B. ordinary 

C. everyday

D. typical

8. I know we had an argument, but now I'd quite like to _________.


A. look down 

B. make up 

C. fall out

D. bring up

9. - I'm going to set up the equipment in a minute.


+ ___________ give you a hand?


A. Shall we 

B. Will I 

C. Would I 

D. Do I 

10. I think there's a picture of the hotel __________ the first page.


A. on


B. at


C. in 


D. to

11. I'm saving all my pocket money __________to buy a new PlayStation.


A. out 


B. down 

C. up 


D. away

12. We usually do go by train, even though the car _________ is a lot quicker.


A. travel 

B. journey

C. trip 


D. voyage

13. Dogs make very ________ pets. They'll always stay by your side.


A. mental

B. private

C. loyal


D. digital

14. They ________ have seen the play last night as they went to a football match instead.


A. could 

B. must


C. might

D. can't

15. I'm sorry, but I've got __________ much work to do to come to the beach today.


A. so 


B. such


C. enough 

D. too

16. - You must be Jane's sister. Glad to meet you.


+ __________


A. I am, either 

B. So I am. I'm glad 
C. What do you do 
D. Me too

17. The boys ________ that he had had anything to do with the break-in.


A. refused 

B. denied

C. objected

D. reject

18. - __________ ?


+ About tem miles before we met him.


A. How fast did he drive 



B. How long did he drive


C. How often did he drive


D. How far did he drive

19. Do you have __________ to take that bicycle?


A. allowance 

B. exception 

C. willingness

D. permission

20. The sign says that all shoplifters will be ________.


A. persecuted 

B. disproved 

C. prosecuted 

D. prohibited

21. - How lovely your pets are!


+ ___________


A. Thank you, it's nice of you to say no

B. Really? They are


C. can you say that again



D. I love them, too

22. She should ___________ in the garage when we come around, which would explain why she didn't hear the bell.


A. work 

B. be working 

C. have worked

D. have been working

23. Going on this diet has really ________ me good. I've lost weight and I feel fantastic!


A. made 

B. taken 

C. done 


D. had

24. Dr Parker gave my mum a lovely ________ for spaghetti carbonara.


A. recipe 

B. prescription

C. receipt 

D. paper

25. - Goodbye, Susie!


+ ____________!


A. So so 

B. The same

C. Yeah


D. So long

26. If you hadn't lost the pieces, we __________ a game of chess.


A. couldn't have had 
B. can't have 

C. may have

D. could have

27. Kelly wanted to have a live band _________ at her wedding.


A. to be played 

B. play


C. played

D. been playing

28. - What do you want to do this summer?


+ I think we should go somewhere ________ has plenty of sun and sand.


A. who 


B. where

C. when 

D. that

29. You should __________ a professional to check your house for earthquake damage.


A. have 


B. make 

C. take 


D. get

30. We _________ today and I got into trouble because I hadn't done it.


A. had checked our homework


B. had our homework checked


C. were checked our homework


D. have our homework checking

Mark the sentence (A,B,C or D) that is the best way to have a complete sentence with the words given

31. without / glasses / see / board


A. I can't even see nothing on the broad without any glasses.


B. I can hardly see anything on the broad without any glasses.


C. Without any glasses, I can't almost see nothing on the broad.


D. Without any glasses, nothing on the broad can be seen by myself.

32. when / read / note / already / leave / Europe?


A. When will you read this note before I'll leave for Europe?


B. When reading the note, I've already left for Europe.


C. When you read this note, I'll have already left for Europe.


D. When this note will be read, I'll have already left for Europe.

33. all / need / black coffee


A. All I am needing to be drinking a cup of black coffee.

B. All is needed to be drinking a cup of black coffee.


C. All of the need now is to drink a cup of black coffee.

D. All I need now is a cup of black coffee.

34. it / time / people / build / permission


A. It's high tome we prevented people from building houses without permission.


B. It's time for people stop building their houses without permission.


C. It's time we prevented people to build houses without permission.

D. It's about time we should stop people building house without permission.

35. have / succeed / interview / hope / work / soon


A. She's succeeded in the interview so as to hope working soon.


B. She's succeeded in the interview so that she hopes working soon.


C. She's succeeded in the interview, she hopes that she works soon.


D. Having succeeded in the interview, she hopes to start working soon.

Mark the letter A, B, C, or D on your answer sheet to show the underlined part that needs correction.
36. Transplanting organs such hearts and kidneys had proved easier than transplanting muscles.

37. On the floor of the Pacific Ocean is hundreds of flat-tipped mountains more than a mile beneath sea level.

38. No longer satisfied with the emphasis of the Denishawn school, Martha has moved to the staff of the Eastman school in 1925.

39. Not until much later did she realize her long-known partner had been lying her.

40. Justice is often personified as a blindfolded woman to hold a pair of scales.

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the question from 41 to 50

Line  The principle of use and disuse states that those parts of organisms' bodies that are used grown larger. Those 
parts  that are not tend to wither away. It is an observed fact that when you exercise particular muscles, they 
grow. Those that are never used dimish. By examining a man's body, we can tell which muscles he uses and 
which he doesn't. we may even be able to guess his profession or his reaction. Enthusiasts of the "body- building"
5
cult make use of the principle of use and disuse to "build" their bodies, almost like a piece of sculpture, into whatever unnatural shape is demanded by fashion in this peculiar minority culture. Muscles are not the only parts of the body that respond to use in this kind of way. Walk barefoot and you acquire harder skin on your soles. It is easy to tell a farmer from a bank teller  by  looking  at their hands alone. The farmer's hands  are horny, hardened

10
by long exposure to rough work. The teller's hands are relatively soft.


The principle of use and disuse enables animals to become better at the job of surviving in their world, progressively better during their lifetime as a result of living in that world. Humans, through direct exposure to sunlight, or lack of it, develop a skin color  which  equips them better to survive in the  particular local conditions.

15
Too much sunlight is dangerous. Enthusiastic sunbathers with very fair skins are susceptible to skin cancer. Too little sunlight, on the other hand, leads to vitamin-D deficiency and rickets. The brown pigment melanin which is synthesized under the influence of sunlight, makes a screen to  protect the underlying   tissues   from the   harmful effects of further sunlight. If a suntanned person moves to a less sunny climate, the melanin disappears, and the body is able to benefit from what little sun there is. This can be represented as an instance of the principle of use 

20
and disuse: skin goes brown when it is "used", and fades to white when it is not.
41. What does the passage mainly discuss?


A. How the principles of use and disuse change people's concepts of themselves.


B. The way in which people change themselves to conform to fashion.


C. The changes that occur according to the principle of use and disuse.


D. The effects of the sun on the principle of use and disuse.

42. The phrase "wither away" in line 2 is closest in meaning to


A. split 


B. rot 


C. perish 

D. shrink

43. The word "Those" in line 3 refers to


A. organisms 

B. bodies 

C. parts 


D. muscles

44. According to the passage, men who body build.


A. appear like sculptures



B. change their appearance


C. belong to strange cults



D. are very fashionable

45. From the passage, it can be inferred that author views body building.


A. with enthusiasm



B. as an artistic from


C. with scientific interest



D. of doubtful benefic

46. The word "horny" in line 9 is closest in meaning to.


A. firm


B. strong 

C. tough 

D. dense 

47. It can be inferred from the passage that the principle of use and disuse enables organisms to


A. change their existence 


B. automatically benefit


C. survive in any condition


D. improve their lifetime

48. The author suggests that melanin


A. is necessary for the production of vitamin-D
B. is beneficial in sunless climates


C. helps protect fair-skinned people

D. is a synthetic product

49. In the second paragraph, the author mentions sun tanning as an example of


A. humans improving their local condition

B. humans surviving in adverse conditions


C. humans using the principle of use and disuse
D. humans running the risk of skin cancer

50. The word " susceptible" could be best replaced by

A. condemned 

B. vulnerable 

C. allergic 

D. suggestible

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the rest in the position of the main stress in each of the following questions.

51. A. recommend              
B. hurricane
    
C. photograph

D. separate
52. A. explain

B. involve

C. purpose

D. control
53. A. furnish

B. reason

C. promise

D. tonight
54. A. specific

B. coincide

C. inventive

D. regardless
55. A. habitable

B. infamously

C. geneticist

D. communes
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 56 to 65

THE HISTORY OF WRITING

The development of writing (56) ______ a huge difference to the world and might see it as the beginning of the (57) ______. Pieces of pottery with marks on that are probably numbers have been discovered in China that date from around 4000 BC. Hieroglyphics and other forms of "picture writing" developed in the (58) _______ around Mesopotamia (modern-day Iraq), where the ancient Sumerian civilization was based, from around 3300 BC onwards. However, the first (59) ________ alphabet was used by the Phoenicians around 1050 BC. Their alphabet had 22 letters and it is estimated that it lasted for 1000 years. The first two signs were called "aleph" and "beth", which in Greek became "alpha" and "beta", which gave us the (60) ________ word "alphabet"

The modern European alphabet is based on the Greek and (61) _______ to other European countries under the Romans. A number of changes took place as time passed. The Romans added the letter G, and the letter J and V were (62) ______ to people in Shakespear's time.

If we (63) _______ the history of punctuation, we also find some interesting facts. The Romans used to write quaesto at the end of a sentence in (64) _______ to show that it was a question. they started to write Qo in (65) _______ of the whole word, and then put the Q above the o. In the end, that became the question mark "?"

56. A. did 


B. had 


C. made 

D. took 

57. A. media

B. bulletin 

C. programme 
D. journalism

58. A. distance 

B. area 

C. length 

D. earth

59. A. true 


B. accurate 

C. exact 

D. precise

60. A. new 

B. trendy 

C. modern 

D. fashionable

61. A. spread 

B. appeared 

C. was 


D. occurred

62. A. infamous

B. unpopular

C. unknown

D. hidden

63. A. look into 

B. bring on 

C. make off 

D. hold up

64. A. turn 


B. fact 


C. order 

D. intention

65. A. position 

B. space 

C. spot 

D. place

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct word for each of the blanks from 66 to 75

Line    A small but growing group of scholar, evolutionary, psychologists, are being to sketch the contours of the human mind as designed by natural selection. Some of them even anticipate the coming of a field called "mismatch theory", which would study maladies resulting from contrasts between the modern environment and the "ancestral environment". The one we were designed for.

5
There is no shortage of such maladies to study, Rates of depression have been doubling in some industrial countries roughly every 10 years. Suicide is the third most common cause of death among young adults, after car  wrecks and homicides.


Evolutionary psychology is a long way from explaining all this with precision, but it is already shedding enough 10
light to challenges some conventional wisdom. It suggests, for example, that the nostalgia for the nuclear family 
of the 1950s is in some way misguided - that the model family of husband at work and wife at home is hardly a 
"natural" and healthful living arrangement, especially for the wives. Moreover, the bygone lifestyles that do 
look fairly natural in light of evolutionary psychology appear to have been eroded largely by commercialism. 
Perhaps the biggest surprise from evolutionary psychology it its depiction of the "animal" in us. Freud, and 

15
various thinkers since, saw "civilization" as an oppressive force that thwarts basic animal instincts and urges and  transmutes them into psychopathology. However, evolutionary psychology suggests that a larger threat to metal health may be the way civilization thwarts civility. There is a gentler, kinder side of human nature, and it seems increasingly to be a victim of repression in modern society. 

66. Which of the following is the main topic of the passage?


A. How evolutionary psychology manages modern society.


B. The problems of illness caused by modern society.


C. The importance of ancestral environment.


D. Evolutionary psychologists' views on the nuclear family.

67. The word "contour" in line 2 is closest in meaning to


A. actions 

B. limits 

C. structures 

D. outlines

68. What does the word "they" in paragraph 2 of the passage refer to?


A. murder 

B. traffic accidents 
C. suicide 

D. depression

69. Which of the following is NOT true about the tea production process?


A. mismatch theory 
B. field 


C. modern environment
D. ancestral environment

70. The  word "documented" in paragraph 4 could be best replaced by which of the following word?


A. It was an unhealthy time to live


B. the nuclear family provided an unsatisfactory lifestyle.


C. women who wished to go out to work were misguided.


D. family life was seen to be unnatural.

71. According to the passage, what is true about the origin of tea drinking?


A. overlooked

B. forgotten 

C. past 


D. original

72. The word "eliminate" in paragraph 5 could be best replaced by which of the following word.?


A. showed that people have animal instincts.
B. greatly improved people's lives.


C. encouraged people to use the basic instincts
D. caused madness in some the basic instincts
73. According to the passage, which my be the reason why someone would choose to drink tea instead of coffee?


A. courtesy

B. politeness

C. morality 

D. formality

74. Where in the passage does the author mention research conducted on the beneficial effects of tea drinking?


A. victims are always punished 


B. people's better natures are denies


C. repressed people are kind and gentle

D. people suffer from repression

75. What best describes the topic of this passage?


A. lines 2-4

B. lines 9-12

C. lines 13-14

D. lines 16-17

Mark the letter A, B, C, or D on your answer sheet to indicate the best way to complete each of the following sentences.
76. The temperature inversions often occur when ________ in the late afternoon.


A. the earth's surface is cooled


B. the earth's surface is cooling


C. the surface of earth cooled



D. cooling the earth's surface

77. A little farther down the street _________.


A. is the inn I used to stay at.



B. there is an inn where I used to stay in


C. the inn is the place where I used to stay

D. is ther an inn in which I used to stay

78. He came to Nairobi _______.


A. with a view to climb Mt. Kenya


B. so for climbing Mt. Kenya


C. intended to climb Mt.Kenya


D. with the intention of climbing Mt. Kenya

79. Kate is committed to ________.


A. buying goods from that shop 


B. buy goods from that shop


C. that shop for buying goods



D. that shop to buy goods

80. The children sing loudly _________.


A. as though they are the winners


B. though they are the winners


C. as if they were the winners



D. were they the winners

	1A
	2B
	3B
	4B
	5C
	6A
	7B
	8B
	9A
	10A

	11C
	12B
	13C
	14D
	15D
	16D
	17B
	18D
	19D
	20C

	21A
	22D
	23C
	24A
	25D
	26D
	27B
	28D
	29D
	30B

	31B
	32C
	33D
	34A
	35D
	36A
	37B
	38C
	39D
	40C

	41C
	42D
	43D
	44B
	45D
	46C
	47C
	48C
	49C
	50B

	51A
	52C
	53D
	54B
	55C
	56C
	57A
	58B
	59A
	60C

	61A
	62C
	63A
	64C
	65D
	66D
	67D
	68B
	69D
	70B

	71C
	72D
	73B
	74B
	75A
	76A
	77A
	78D
	79A
	80C


ĐỀ THI THỬ ĐẠI HỌC – CAO ĐẲNG  

MÔN : TIẾNG ANH – KHỐI D

(Thời gian làm bài : 90 phút)
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Choose the word which has different stress pattern:

1. A primitive 

B particular 

C continuous 

D connected

2. A intensify 

B summary 

C philosophers 

D instruction

3. A pressure 

B medical 

C immortal 

D lightning

4. A language 

B lyrical 

C evidence 

D disadvantage

5. A sedentary 

B available 

C additional 

D majority

Choose the best option:

6. _____ is a time that is supported to be free from worries. 

A. Child 

B. Childlike 

C. Childish 

D. Childhood 

7. Within a couple of hours, a very important _____ on the new tax policy will be made. 

A. announce 

B. announcement 
C. announcer 

D. announcing

8. One _____ of public transport is its unreliability.

A. benefit 

B. disadvantage 
C. harm 

D. drawback 

9. _____ accepting your job offer, I'd like to know a bit more about the company. 

A. In advance 

B. In order 

C. Until 

D. Before 

10. Let's have a _____ of tennis after lunch if you're not tired, shall we?

A. match 

B. play 


C. game 

D. party 

11. He played a very important ______ in politics until he was well over 80. 

A. scene 

B. job 


C. position 

D. part

12. The noise from the traffic outside stopped me from _____ to sleep. 

A. falling 

B. starting 

C. beginning 

D. going 

13. She _____ down completely on hearing of her friend's death. 

A. broke 

B. turned. 

C. put 


D. fell 

14. Jack can speak two languages. One is English. _____ is Vietnamese. 

A. Other 

B. The other 

C. Another 

D. Others 

15. The manager did not offer her the job because of her untidy _____. 

A. sight 

B. view 

C. appearance 

D. presence 

16. "Is that a new coat?" "Yes, what _____ it?”

A. are you thinking of 
B. do you think of 
C. is your idea about 
D. did you think about 

17. How do you do? ______.

A I'm very fine, thanks 


B. Thanks to my mother 
C. How do you do? 


D. With my brother.

18. The girl _____ is my neighbor. 

A. talks to the lady over there. 


B. is talking to the lady over there 

C. was talking to the lady over there 

D. talking to the lady over there 

19. ______ with her boyfriend yesterday, she doesn't want to answer his phone call. 

A. Having quarreled 



B. Because having quarreled 

C. Because-of she quarreled  


D. Had quarreled 

20. My daughter often says that she won't get married until she _____ 25 years old.  

A. is 


B. will be 

C. will have been 
D. has been 

21. My father asked me _____ of the film. 

A. what did I think 
B. what I think 

C. what I thought 
D. what I did thought 

22. Everyone in both cars _____ injured in the accident last night, ______? 

A were / weren't they 
B. was / weren't they 
C. was / wasn't he? 
D. were / were they 

23. The more he tried to explain, ______ we got 

A. the much confused 


B. the many confusing 

C. the more confusing 


D. the more confused 

24. Not only _____ us light, but it also gives us heat. 

A. the sun gives 
B. the sun has given 
C. has the sun given  
D. does the sun give 

25. If you hadn't stayed up so late last night, you ______ sleepy now. 

A. wouldn't have felt 
B. wouldn't feel 
C. wouldn't fell 

D. wouldn't have fallen 

Read the passage and choose the best answer:

Within the last century the amount of carbon dioxide in the atmosphere (26) ____ dramatically, largely (27) ____ people burn vast amounts of fossil fuels - coal and petroleum and its derivatives. Average global temperature also has increased - by about 0.6 Celsius degree within (28) ____ past century. 

Atmospheric scientists (29) ____ found that at least half of that temperature increase (30) ____ attributed to human activity. They predict that (31) ____ dramatic action is taken, global temperature will continue (32) ____ by 1 A to 5.8 Celsius degrees over the next century. Although (33) ____ increase may not seem like a great difference, during the last ice age the global temperature (34) ____ only 2.2 Celsius degrees cooler than it (35) ____ presently. 

26. A. has risen 

B. rose 

C. has raised 

D. raised 

27. A. because of 

B. although 

C. despite 

D. because 

28. A. a 


B. some 

C. the 


D. any 

29. A. had 


B. have 

C. are 


D. ought to 

30. A. should be 

B. is being 

C. had been 

D. can be 

31. A. unless 

B. if 


C. provided 

D. as long as 

32. A. be rising 

B. to rise   

C. to be risen 

D. to be rising 

33. A. so much 

B. so 


C. such an 

D. such 

34. A. had been 

B. has been 

C. is 


D. was 

35. A. is 


B. has been 

C. was 


D. will be 

Read the passage and choose the best answer:

Clean freshwater resources are essential for drinking, bathing, cooking, irrigation, industry, and for plant and animal (36) ____. Unfortunately, the global supply of freshwater is (37) ____ unevenly. Chronic water shortages (38) ____ in most of Africa and drought is common over much of the globe. The (39) ____ of most freshwater supplies - groundwater (water located below the soil surface), reservoirs, and rivers - are under severe and (40) ____ environmental stress because of overuse, water pollution, and ecosystem degradation. Over 95 percent of urban sewage in (41) ____ countries is (42) ____ untreated into surface waters such as rivers and harbors; 

About 65 percent of the global freshwater supply is used in (43) ____ and 25 percent is used in industry. Freshwater (44) ____ therefore requires a reduction in wasteful practices like (45) ____ irrigation, reforms in agriculture and. industry, and strict pollution controls worldwide. 

36. A. survive 

B. survived  

C. surviving 

D. survival 

37. A. delivered 

B. distributed 

C. provided 

D. given 

38. A. exist 

B. lie 


C. show 

D. litany 

39. A. resources 

B. springs 

C. sources 

D. starting 

40. A. increasing 

B. growing 

C. climbing 

D. ascending 

41. A. growing 

B. miserable 

C. poverty 

D. developing 

42. A. recharged 

B. discharged 

C. charged 

D. discharging 

43. A. farming 

B. planting 

C. agriculture 

D. growing 

44. A. reservation 

B. conservation 

C. preservation 

D. retention 

45. A. ineffective 

B. illogical 

C. irrational 

D. inefficient 

Identify one mistake in the following sentences:

46. (A) Mined over 2,000 years (B) ago, copper is one of (C) the earliest (D) know metals. 

47. (A) The average adult (B) has got from two (C) to five (D) colds each year. 

48. Computers (A) have made (B) access to information (C) instantly available just (D) by push a few buttons. 

49. Some gorillas (A) beat their chests (B) as an (C) express of (D) high spirits. 

50. Because vitamins (A) contained (B) in a wide (C) variety of foods, people seldom (D) lack most of them.

Choose the best option:

51. Simon physics at all. 

A. was hardly not interested in 


B. was hardly interested in 

C. was hardly not interesting on  


D. was not hardly interested in 

52. If a student ____ it is very unlikely that he will receive a good education. 

A. behaves badly arid who is lazy, 


B. who behaves badly and was lazy, 

C. who behaves badly and is lazy, 


D. behaves badly and is lazy, 

53. The audience, ____ enjoyed the performance. 

A. most of them were students, 


B. most of whom were students, 

C. they were mostly students, 


D. they themselves were students, 

54. The tests .in this. book are arranged ____ 

A. in order of difficult 



B. in order of difficulty 

C. in orderly difficult 




D. in the order of difficulty 

55. The success of the play was due to ____

A. the actors and how it was produced

B. the acting and the production 

C. the actors and its production 


D. how they acted and the production 

Choose the correct sentence which has the same meaning as the given one: 

56. It is a pity you didn't tell us about this.  

A. I wish you have told us about this.  

B. I wish you would tell us about this. 

C. I wish you had told us about this 


D. I wish you would have told us about this. 

57. I've never gone to the car wash before. 

A. This is the first time I have had my car washed. 
B. This is the first time I have washed my car. 

C. Never have I washed my car before.

D. Never has my car been washed. 

58. After he had finished the report, he submitted it to the director. 

A. Finishing the report, it was submitted to the director. 

B. Having finished the report, it was submitted to the director. 

C. Having finished the report, he submitted to the director. 

D. Having finished the report, he submitted it to the director. 

59. Jean could not help weeping when she heard the bad news. 

A. Jean could not stop herself from weeping at the bad news. 

B. Jean could not allow herself to weep at the bad news. 

C. Jean could not help herself and so she wept at the bad news. 

D. Jean could not help herself because she was weeping. 

60. The best solution was thought of by the monitor. 

A. The monitor came up with the best solution. 

B. The monitor was good with the best solution.

C. No one could solve the problem except the monitor. 

D. The best solution was monitored by the thought. 

Read the passage and choose the best answer:

In the United States, presidential elections are held in years evenly divisible by four (1888, 1900, 1964, etc.). Since 1840, American presidents elected in years ending with zero have died in office, with one exception. William H. Harrison, the man who served the shortest term, died of pneumonia only several weeks after his inauguration. 

Abraham Lincoln was one of four presidents who were assassinated. He was elected in 1860, and his untimely death came just five years later. James A. Garfield, a former Union army general from Ohio, was shot during his first year in office (1881) by a man to whom he wouldn't give a job. While in his second term of office (1901), William McKinley, another Ohioan, attended the Pan-American Exposition in Buffalo, New York. During the reception, he was assassinated while shaking hands with some of the guests. John F. Kennedy was assassinated in 1963 in Dallas only three years after his election. 

Three years after his election in 1920, Warren G, Harding died in office. Although it was never proved, many believe he was poisoned. Franklin D. Roosevelt was elected four times (1932, 1936, 1940 and 1944), the only man to serve so long a term. He had contracted polio in 1921 and eventually died of the illness in 1945. 

Ronald Reagan, who was elected in 1980 and reelected four years later, suffered an assassination attempt but did not succumb to the assassin's bullets. He was the first to break the long chain of unfortunate events. Will the candidate in the election of 2020 also be as lucky? 

61. All of the following were election years EXCEPT ____ 

A. 1960 

B. 1930 

C.1888 

D.1824 

62. Which president served the shortest term in office? 

A. Abraham Lincoln 



B. Warren G. Harding 

C. William McKinley 



D. William H. Harrison 

63. Which of the following is true? 

A. All presidents elected in years ending in zero have died in office. 

B. Only presidents from Ohio have died in office. 

C. Franklin D. Roosevelt completed four terms as president. 

D. Four American presidents have been assassinated. 

64. How many presidents elected in years ending in zero since 1840 have died in office? 

A. 7 


B. 5 


C. 4 


D. 3 

65. The word "inauguration" in the first paragraph means most nearly the same as 

A. election 




B. acceptance speech 

C. swearing-in ceremony 


D. campaign 

66. All of the following presidents were assassinated EXCEPT ____ 

A. John F. Kennedy 



B. Franklin D. Roosevelt 

C. Abraham Lincoln 



D. James A. Garfield 

67. The word "whom" in the second paragraph refers to ____ 

A. Garfield 


B. Garfield's assassin 
C. a Union army general 
D. McKinley 

68. The word "assassinated" in the second paragraph is closest in meaning to 

A. murdered 


B. decorated 

C. honored 


D. sickened 

69. In the third paragraph, "contracted" is closest in meaning to ____ 

A. communicated about 
B. developed 

C. agree about 

D. notified 

70. How long did Warren G, Harding work as a president? 

A. 2 years 


B. 3 years 

C. 4 years 


D. 4 years 

Read the passage and choose the best answer:

After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. However, he foresaw its universally destructive powers too late. Nobel preferred not to be remembered as the inventor of dynamite, so in 1895, just two weeks before his death·, he created a fund to be used for awarding prizes to people who had made worthwhile contributions to humanity. Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was added in 1968, just sixty-seven years after the first awards ceremony. 

Nobel's original legacy of nine million dollars was invested, and the interest on this sum is used for the awards which vary from $30,000 to $125,000. 

Every year on December 10, the anniversary of Nobel's death, the awards (gold medal, illuminated diploma, and money) are presented to the winners. Sometimes politics plays an important role in the judges' decisions. Americans have won numerous science awards, but relatively few literature prizes. 

No awards were presented from 1940 to 1942 at the beginning of World War 11. Some people have won two prizes, but this is rare; others have shared their prizes. 

71. The word "foresaw" in the first paragraph is nearest in meaning to __ 

A. prevailed 

B. postponed

C. prevented 

D. predicted 

72. The Nobel prize was established in order to ___ 

A recognize worthwhile contributions to humanity 
B. resolve political differences 

C. honor the inventor of dynamite


D. spend money 

73. In which area have Americans received the most awards? 

A Literature 

B. Peace 

C. Economics

D. Science 

74. All of the following statements are true EXCEPT 

A. Awards vary in monetary value 

B. ceremonies are held on December 10 to commemorate Nobel's invention 

C. Politics plays an important role in selecting the winners 

D. A few individuals have won two awards 

75. In how many fields are prizes bestowed? 

A. 2 


B. 5 


C.6 


D. 10 

76. It is implied that Nobel's profession was in ____ 

A economics 

B. medicine 

C. literature 

D. science 

77. In the first paragraph, "worthwhile" is closest in meaning to ___ 

A. economic 

B. prestigious 

C. trivial 

D. valuable 

78. How much money did Nobel leaves for the prizes? 

A. $30,000

B. $125,000 

C. $155,000 

D. $9,000,000 

79. What is the main idea of this passage? 

A. Alfred Nobel became very rich when he invented dynamite. 

B. Alfred Nobel created awards in six categories for contributions to humanity. 

C. Alfred Nobel left all of his money to science 

D. Alfred Nobel made a lasting contribution to humanity 

80. The word "legacy" in the second paragraph means most nearly the same as ____ 

A. legend 

B. bequest 

C. prize 

D. debt 

----- The end -----
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I. Đọc kỹ đoạn văn sau và chọn phương án đúng (A hoặc B, C, D) cho mỗi câu từ 1 đến 10.
Reading to oneself is a modern activity which was almost unknown to the scholars of the classical and medieval worlds, while during the fifteenth century the term “reading” undoubtedly meant reading aloud. Only during the nineteenth century did silent reading become commonplace (phổ biến). One should be wary (thận trọng), however, of assuming that silent reading came about simply because reading aloud was a distraction to others. Examinations of factors related to the historical development of silent reading have revealed that it became the usual mode of reading for most adults mainly because the tasks themselves changed in character. The last century saw a steady gradual increase in literacy and thus in the number of readers. As the number of readers increased, the number of potential listeners declined and thus there was some reduction in the need to read aloud. As reading for the benefit of listeners grew less common, so came the flourishing of reading as a private activity in such public places as libraries, railway carriages and offices, where reading aloud would cause distraction to other readers. Towards the end of the century, there was still considerable argument over whether books should be used for information or treated respectfully and over whether the reading of materials such as newspapers was in some way mentally weakening. Indeed, this argument remains with us still in education. However, whatever its virtues, the old shared literacy culture had gone and was replaced by the printed mass media on the one hand and by books and periodicals for a specialised readership (độc giả đặc biệt) on the other. By the end of the twentieth century, students were being recommended to adopt attitudes to books and to use reading skills which were inappropriate, if not impossible, for the oral reader. The social, cultural and technological changes in the century had greatly altered what the term “reading” implied.

Câu 1: Reading aloud was more common in the medieval world because ______.

A. people relied on reading for entertainment

B. silent reading had not been discovered

C. there were few places available for private reading
D. few people could read to themselves

Câu 2: The word “commonplace” in the first paragraph mostly means “______”.

A. for everybody’s use 
B. most preferable 

C. attracting attention D. widely used

Câu 3: The development of silent reading during the last century indicated ______.

A. an increase in the average age of readers 


B. an increase in the number of books

C. a change in the nature of reading 



D. a change in the status of literate people

Câu 4: Silent reading, especially in public places, flourished mainly because of ______.

A. the decreasing need to read aloud 



B. the development of libraries

C. the increase in literacy 




D. the decreasing number of listeners

Câu 5: It can be inferred that the emergence of the mass media and specialized reading materials was an indication of ______. A. a decline of standards of literacy 

B. a change in the readers’ interest

C. an alteration in educationalists’ attitudes 


D. an improvement of printing techniques

Câu 6: The phrase “a specialized readership” in paragraph 4 mostly means “______”.

A. a requirement for readers in a particular area of knowledge

B. a limited number of readers in a particular area of knowledge

C. a reading volume for particular professionals

D. a status for readers specialized in mass media

Câu 7: The phrase “oral reader” in the last paragraph mostly means “a person who ______”.

A. is good at public speaking 




B. practises reading to an audience

C. takes part in an audition 




D. is interested in spoken language

Câu 8: All might be the factors that affected the continuation of the old shared literacy culture EXCEPT _____.

A. the inappropriate reading skills 



B. the specialized readership

C. the diversity of reading materials 



D. the printed mass media

Câu 9: Which of the following statements is NOT TRUE according to the passage?

A. Reading aloud was more common in the past than it is today.

B. Not all printed mass media was appropriate for reading aloud.

C. The decline of reading aloud was wholly due to its distracting effect.

D. The change in reading habits was partly due to the social, cultural and technological changes.

Câu 10: The writer of this passage is attempting to ______.

A. explain how reading habits have developed 
B. change people’s attitudes to reading

C. show how reading methods have improved 
D. encourage the growth of reading

II. Chọn phương án (A hoặc B, C, D) ứng với từ có trọng âm chính nhấn vào âm tiết có vị trí khác với ba từ còn lại trong mỗi câu.

Câu 11: A. apply 

B. persuade 


C. reduce 


D. offer

Câu 12: A. preservative 
B. congratulate 

C. preferential 

D. development

Câu 13: A. president 

B. physicist 


C. inventor 


D. property

Câu 14: A. economy 

B. unemployment 

C. communicate 

D. particular

Câu 15: A. recommend 
B. volunteer 


C. understand 


D. potential

III. Chọn phương án đúng (A hoặc B, C, D) để hoàn thành mỗi câu sau.

Câu 16: He’s a very ______ person because he can make other workers follow his advice.

A. creative 


B. influential 

C. deciding 

D. effective

Câu 17: Increasing ______ of fruit in the diet may help to reduce the risk of heart disease.

A. the amount 


B. an amount 

C. the number 

D. a number

Câu 18: - "Why wasn't your boyfriend at the party last night?"

- "He ______ the lecture at Shaw Hall. I know he very much wanted to hear the speaker."

A. should have attended 
B. can have attended 
C. was to attend 
D. may have attended

Câu 19: The doctor decided to give her a thorough examination __ he could identify the causes of her illness.

A. after 


B. so as 

C. unless 

D. so that

Câu 20: My computer is not ______ of running this software.

A. able 


B. compatible 

C. capable 

D. suitable

Câu 21: The room needs ______ for the wedding.

A. decorating 


B. to decorate 

C. decorate 

D. be decorated

Câu 22: That hotel is so expensive. They ______ you sixty pounds for bed and breakfast.

A. charge 


B. fine 


C. take 

D. cost

Câu 23: I am considering ______ my job. Can you recommend a good company?

A. to move 


B. moving 

C. to change 

D. changing

Câu 24: I'm sure you'll have no ______ the exam.

A. difficulty passing 

B. difficulties to pass C. difficulty to pass 
D. difficulties of passing

Câu 25: - Janet: "Do you feel like going to the cinema this evening?"
- Susan: "______."

A. I don't agree, I'm afraid 



B. You’re welcome

C. That would be great 



D. I feel very bored

Câu 26: I’m afraid I’m not really ______ to comment on this matter.

A. qualifying 


B. qualified 

C. quality 

D. qualitative

Câu 27: Today, household chores have been made much easier by electrical ______.

A. utilities 


B. applications 
C. appliances 

D. instruments

Câu 28: The curtains have ______ because of the strong sunlight.

A. faded 


B. fainted 

C. lightened 

D. weakened

Câu 29: The referee ______ the coin to decide which team would kick the ball first.

A. caught 


B. threw 

C. cast 

D. tossed (tung sấp ngửa)

Câu 30: - Laura: “What a lovely house you have!”
- Maria: “_______.”

A. Of course not, it’s not costly 

B. Thank you. Hope you will drop in

C. I think so 




D. No problem

Câu 31: I accidentally ______ Mike when I was crossing a street downtown yesterday.

A. caught sight of 

B. kept an eye on 
C. paid attention to 

D. lost touch with

Câu 32: How long does the play ______?

A. last 



B. extend 

C. prolong 


D. stretch

Câu 33: The price of fruit has increased recently, ______ the price of vegetables has gone down.

A. whereas 


B. whether 

C. when 


D. otherwise

Câu 34: It is blowing so hard. We ______ such a terrible storm.

A. have never known 




B. have never been knowing

C. never know 




D. had never known

Câu 35: When the old school friends met, a lot of happy memories ______ back.

A. had brought 




B. were brought 


C. brought 



D. had been brought

IV. Chọn phương án đúng (A hoặc B, C, D) ứng với câu có nghĩa gần nhất với mỗi câu cho sẵn sau đây.

Câu 36: "Why don’t we go out for dinner?” said Mary.

A. Mary suggested a dinner out. 


B. Mary ordered a dinner out.

C. Mary demanded a dinner out. 


D. Mary requested a dinner out.

Câu 37: We've run out of tea.

A. There's not much more tea left. 


B. There's no tea left.

C. We have to run out to buy some tea. 

D. We didn’t have any tea.

Câu 38: The sooner we solve this problem, the better it will be for all concerned.

A. If we could solve this problem soon, it would be better for all concerned.

B. It would be better for all concerned if we can solve this problem soon.

C. If all concerned are better, we can solve this problem soon.

D. If we can solve this problem soon, it will be better for all concerned.

Câu 39: My friend told me, “If I were you, I would not smoke so much.”

A. My friend advised me not to smoke so much. 

B. My friend warned me against smoking so much.

C. My friend prohibited me from smoking so much. 
D. My friend suggested not smoking so much.

Câu 40: "I will let you know the answer by the end of this week,” Tom said to Janet.

A. Tom suggested giving Janet the answer by the end of the week.

B. Tom promised to give Janet the answer by the end of the week.

C. Tom insisted on letting Janet know the answer by the end of the week.

D. Tom offered to give Janet the answer by the end of the week.

V. Đọc kỹ đoạn văn sau và chọn phương án đúng (A hoặc B, C, D) cho mỗi câu từ 41 đến 50.

The Sun today is a yellow dwarf (lùn) star. It is fueled by thermonuclear (hạt nhân nóng) reactions near its center that convert hydrogen to helium. The Sun has existed in its present state for about four billion six hundred million years and is thousands of times larger than the Earth. By studying other stars, astronomers can predict what the rest of the Sun’s life will be like. About five billion years from now, the core of the Sun will shrink (co lại) and become hotter. The surface temperature will fall. The higher temperature of the center will increase the rate of thermonuclear reactions. The outer regions of the Sun will expand approximately 35 million miles, about the distance to Mercury, which is the closest planet to the Sun. The Sun will then be a red giant star. Temperatures on the Earth will become too high for life to exist. Once the Sun has used up its thermonuclear energy as a red giant, it will begin to shrink. After it shrinks to the size of the Earth, it will become a white dwarf star. The Sun may throw off huge amounts of gases in violent eruptions called nova explosions as it changes from a red giant to a white dwarf. After billions of years as a white dwarf, the Sun will have used up all its fuel and will have lost its heat. Such a star is called a black dwarf. After the Sun has become a black dwarf, the Earth will be dark and cold. If any atmosphere remains there, it will have frozen over the Earth’s surface.

Câu 41: It can be inferred from the passage that the Sun ______.

A. is approximately halfway through its life as a yellow dwarf

B. will continue to be a yellow dwarf for another 10 billion years

C. has been in existence for 10 billion years

D. is rapidly changing in size and brightness

Câu 42: What will probably be the first stage of change for the Sun to become a red giant?

A. Its surface will become hotter and shrink. 
B. It will throw off huge amounts of gases.

C. Its central part will grow smaller and hotter. 
D. Its core will cool off and use less fuel.

Câu 43: When the Sun becomes a red giant, what will the atmosphere be like on the Earth?

A. It will be enveloped in the expanding surface of the sun.


B. It will become too hot for life to exist.

C. It will be almost destroyed by nova explosions.



D. It will freeze and become solid.

Câu 44: When the Sun has used up its energy as a red giant, it will ______.

A. get frozen 


B. cease to exist 
C. stop to expand 
D. become smaller

Câu 45: Large amounts of gases may be released from the Sun at the end of its life as a ______.

A. black dwarf 

B. white dwarf 
C. red giant 

D. yellow dwarf

Câu 46: As a white dwarf, the Sun will be ______.

A. the same size as the planet Mercury 
B. around 35 million miles in diameter

C. a cool and habitable planet 

D. thousands of times smaller than it is today

Câu 47: The Sun will become a black dwarf when ______.

A. the Sun moves nearer to the Earth 
B. it has used up all its fuel as a white dwarf

C. the core of the Sun becomes hotter 
D. the outer regions of the Sun expand

Câu 48: The word “there” in the last sentence of paragraph 4 refers to ______.

A. the planet Mercury 


B. the core of a black dwarf 
C. our own planet 



D. the outer surface of the Sun

Câu 49: This passage is intended to ______.

A. describe the changes that the Sun will go through

B. present a theory about red giant stars

C. alert people to the dangers posed by the Sun


D. discuss conditions on the Earth in the far future

Câu 50: The passage has probably been taken from ______.

A. a scientific journal 



B. a news report

C. a work of science fiction 


D. a scientific chronicle

VI. Đọc kỹ đoạn văn sau và chọn phương án đúng (A hoặc B, C, D) cho mỗi chỗ trống từ 51 đến 60.

How men first learnt to (51)______ words is unknown; in other words, the origin of language is a (52)______. All we really know is that men, unlike animals, (53)______ invented certain sounds to express thoughts and feelings, actions and things so that they could communicate with each other; and that later they agreed (54)______ certain signs, called letters, which could be combined to represent those sounds, and which could be written down. These sounds, (55)______ spoken or written in letters, are called words. Great writers are those who not only have great thoughts but also express these thoughts in words that (56)______ powerfully to our minds and emotions. This charming and telling use of words is what we call literary (57)______. Above all, the real poet is a master of words. He can (58)______ his meaning in words which sing like music, and which by their position and association can (59)______ men to tears. We should, therefore, learn to choose our words carefully, (60)______ they will make our speech silly and vulgar.

Câu 51: A. invent 

B. create 


C. make 

D. discover

Câu 52: A. story 

B. secret 


C. mystery 

D. legend

Câu 53: A. whatever 

B. however 


C. somewhat 

D. somehow

Câu 54: A. at 


B. upon 


C. with 

D. to

Câu 55: A. if 


B. however 


C. whether 

D. though

Câu 56: A. interest 

B. appeal 


C. attract 

D. lure

Câu 57: A. prose 

B. work 


C. form 

D. style

Câu 58: A. carry 

B. convey 


C. transfer 

D. transmit

Câu 59: A. take 

B. send 


C. break 

D. move

Câu 60: A. or 


B. so 



C. although 

D. because

VII. Đọc kỹ đoạn văn sau và chọn phương án đúng (A hoặc B, C, D) cho mỗi chỗ trống từ 61 đến 70.

The heart has long been considered to be (61)______ feelings of love dwell (trú ngụ). In love songs throughout the ages, love almost always goes together (62)______ the heart. The heart has continuously been viewed (63)______ the place where love begins and develops. Even the Bible gives (64)______ to love and the heart. The role of the heart in love must come from what happens to it when a person feels strongly (65)______ to someone. The strong feelings (66)______ the other person, especially in the early stages of a relationship, have the results that the heart starts beating faster and breathing starts speeding (67)__(up)__. According to psychologists, a love relationship is a situation that (68)__(involves)__ a lot of stress and the body reacts to this by getting ready to face the unknown. This has been called the "fight or flight" (69)_(reaction)__, meeting danger by fighting it or running away. So with love, the heart accelerates and (70)_(breathing)_ becomes quick.

Câu 61: A. when 

B. where 


C. that 



D. what

Câu 62: A. to 


B. from 


C. with 


D. at

Câu 63: A. like 

B. as though 


C. as 



D. as if

Câu 64: A. reference 

B. citation (tr dẫn) 

C. preference 
(ưa thích)
D. quote

Câu 65: A. attracting 

B. attractive 


C. attract 


D. attracted

Câu 66: A. of 


B. for 



C. to 



D. with

Câu 67: A. up 

B. forward 


C. on 



D. upon

Câu 68: A. comprises 
B. arouses 


C. involves 


D. includes

Câu 69: A. reactionary 
B. reactor 


C. reaction 


D. reacting

Câu 70: A. exhaling 

B. breathing 


C. inhaling 


D. sweating

VIII. Chọn phương án đúng (A hoặc B, C, D) để hoàn thành mỗi câu sau.

Câu 71: ______, he would have learned how to read.

A. If he has been able to go school as a child 
B. If he could go to school as a child

C. Were he able to go to school as a child 

D. Had he been able to go to school as a child

Câu 72: ______, he was determined to continue to climb up the mountain.

A. He felt very tired though 



B. As he might feel tired 
C. Tired as it was 




D. Tired as he might feel

Câu 73: Having been delayed by heavy traffic, ______.

A. it was difficult for her to arrive on time 

B. her being late was intolerable

C. it was impossible for her to arrive on time 
D. she was unable to arrive on time
Câu 74: She regretfully told him that ______.

A. she would leave the tickets at home 

B. she left the tickets at home

C. she had left the tickets at home 


D. she would have left the tickets at home

Câu 75: The robbers attacked the owner of the house ______.

   
A. so that they would appear with the expensive painting 
B. and disappeared with the expensive painting

   
C. but they appeared with the expensive painting              
D. so they disappeared with the expensive painting

IX. Chọn phương án (A hoặc B, C, D) ứng với từ/cụm từ có gạch chân cần phải sửa để các câu sau trở thành câu đúng.

Câu 76: Helen likes to listen to music, to go to the cinema, to chat on the phone and going shopping.

                                        A                                 B                               C                                 D

Câu 77: Both Mr. and Mrs. Smith are explaining the children the rules of the game.

                 A             B                      C                                               D

Câu 78: You can enjoy a sport without joining in a club or belonging to a team.

                                A                    B                   C                                  D

Câu 79: Unlike many writings of her time, she was not preoccupied with morality.

                                          A             B                                      C                 D

Câu 80: A child of noble birth, his name was famous among the children in that school.

                           A                          B                              C                             D
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ĐỀ LUYỆN THI ĐẠI HỌC 

Part I: 1-5. Pick out the word whose underlined and bold  part is pronounced differently from that of the other words.

1. A. bound
B. sound
C. country
D. poultry

2. A. shower
B. allow
C. bellow
D. down

3. A. kicked
B. fixed
C. pleased
D. missed
4. A. mistakes
B. dates
C. heads
D. hats


5. A. examine
B. determine
C. valentine
D.heroine
Part II: 6-35. Choose the best answer among  A, B, C or D that best completes each sentence.

6. The bank is reported in he local newspaper_____________ in broad daily yesterday.


A. to be robbed
B. robbed


C. to have been robbed
D. having been robbed

7. Bit a bit, a child makes the necessary changes to make his language ____________.


A. as other people
B. as other people’s


C. like other people
D. like other people’s

8. ______________the opportunity, he might well have become an outstanding cartoonist.


A. Being given

B. To give

C. Giving

D. Given

9. By the end of next month, we ___________ this assignment.


A. will finish

B. will be finishing
C. will have finished
D. have finished

10. The higher the content of carbon dioxide in the air, _______________


A. more heat it retains
B. it retains mere heat


C. the more it retains heat
D. the more heat it retains

11. I’d rather you _______________ home now.


A. go


B. went

C. will go

D. would go

12. _______________ he arrived at the bus  stop when the bus came.


A. No longer has
B. No sooner had
C. Not until had
D. Hardly had

13. He _______________ to the doctor after the accident, but he didn’t.


A. must have gone
B. should have gone
C. should go
D. had better to go

14. The United States consists of 50 states; _______________ has its own government.


A. each of which
B. which

C. that

D. each of them

15. The forecast has revealed that the world’s reserves of fossil fuel will have ________by 2015.


A. taken over

B. caught up
C. used off

D. run out

16. 
- “How do you like your steak done?”


- “_______________ “


A. Yes, I do

B. Well done
C. Just a little
D. Not much

17. They didn’t find _______________ in a foreign country.


A. it easy to live

B. it easy live
C. it to live easy
D. easy to live

18. It is a waste of time and energy _______________ it by heart.


A. to learn

B. learning

C. to be learnt
D. learnt

19. The party, _____________ I was the guest of honor, was extremely enjoyable.


A. by which

B. for which
C. to which
D. at which

20. It’s high time we ________________ cutting down the rain forests.



A. stopped

B. must stop
C. shall stop
D. stop

21. Susan is very hard-working, but her pay is not ___________for her work.


A. enough good

B. good enough
C. as good enough
D. good as enough

22. Not until _______________himself serious ill.


A. he had completed the task did he find
B. had he completed the task did he find


C. he completed the task did he find

D. did he complete the task he had found

23. “ How was your teaching job last winter?” “I regret ___________harder to help my students.”


A. not tried

B. not having tried 
C. not to try
D. not have tried

24.  _______________ I ask him for the money he owes me, he says he will bring it in a few days, but I don’t think he has got it at all.


A. Whenever

B. However
C. Whatever
D. Wherever

25. ____________ with the size of the whole earth, the highest mountains do not seem high as all.


A. Compared them
B. When compared
C. If you compare
D. Comparison

26. There’s no _______________ in going to school if you are not willing to learn


A. reason

B. point

C. aim


D. purpose

27. _______________ will you find a more comfortable hotel.


A. Anywhere

B. Somewhere

C. Nowhere

D. Everywhere

28. Most American don’t object _______________ them by their first name.


A. that I call

B. for calling

C. that I am to call
D. to my calling

29. He _______________ for the results since last Friday.


A. was waiting

B. has been waiting
C. waited

D. is waiting

30. Have you ever considered ______________ to live in another country?


A. going


B. to go

C. to have gone
D. being gone

31. It would have been a much more serious accident _______________ fast at the time.


A. he drove

B. was he driving
C. had he been driving 
D. he had driven

32. I am glad that I’ve succeeded _______________ persuading him to do it.


A. with


B. to


C. in


D. at

33. She applied for training as a pilot, but they turned her _______________ because of her poor eyesight.


A. down


B. up


C. over


D. away

34. Many people have contributed _______________ the development of the country.


A. for


B. with


C. by


D. to

35. “Can you wait while I run into the library?” “- Ok, _______________ you hurry”


A. so


B. therefore

C. unless

D. as long as

Part III: 36-40.  Choose the underlined part among A, B, C, or D that needs correcting.

36. There are such few students that the class has to be cancelled .

                 A      B          C                                             D

37. Ducks are less susceptible to infection than others types of poultry.

                         A                      B                  C       D

38. Educated in the UK, his abilities are widely recognized in the world of professionals

                      A                  B                               C                               D

39. In my opinion, I think that this book is more interested than the other one.

      A                              B                                            C                      D

40. Because parents did not satisfy with the explanation given by the bus driver, they were 

                                        A                                                 B                                                       asking for an official investigation into the accident.

            C                                            D

Part IV: 41-50. Choose the correct sentence among A, B, C or D which has the same meaning as the given one.

41. We stayed in that hotel despite the noise.


A. Despite the hotel was noisy, we stayed there.


B. In spite of noisy, we stayed there.


C. Although the noise, we stayed there.


D. No matter how noisy the hotel was, we stayed there.

42. Everybody thinks that Frank stole the money.


A. Frank is suspected to steal the money


B. Frank is thought to be stolen the money


C. Frank was thought to steal the money


D. Frank is thought to steal the money

43. He survived the operation thanks to the skillful surgeon.


A. He survived because he was a skillful surgeon.


B. Though the surgeon was skillful, he couldn’t survived the operation


C. There was no skillful surgeon, so he died.


D. He wouldn’t have survived the operation without the skillful surgeon.

44. The film didn’t come up to my expectations.


A. I expected the film to end more abruptly.


B. The film was as good as I expected.


C. I expected the film to be more boring


D. The film fell short of my expectation.

45. Peter had very little money but managed to make ends meet.


A. Having little money, Peter couldn’t make ends meet.


B. Peter could hardly live on little money.


C. Peter got by on very little money.


D. Peter found it hard to live on very little money.

46. The sooner we solve this problem, the better it will be for all concerned.


A. If we could solve this problem soon, it would be better for all concerned.


B. It would be better for all concerned if we can solve this problem soon.


C. If all concerned are better, we can solve this problem soon.


D. If we can’t solve the problem soon, things may go wrong.

47. “I will let you know the answer by the end of this week,” Tom said to Janet.


A. Tom suggested giving Janet the answer by the end of the week.


B. Tom promised to give Janet the answer by the end of the week.


C. Tom said he will let Janet know the answer by the end of the week.


D. Tom agreed with Janet about the answer by the end of the week.

48. He hasn’t smoked a cigarette for a week.


A. It’s for a week that he hasn’t smoked a cigarette.


B. It’s a week since he hasn’t smoked a cigarette.


C. It’s a cigarette that he smoked a week ago.


D. It’s a week ago that he smoked a cigarette.

49. No sooner had the teacher gone out than the students started making noise.


A. The students started making noise the moment the teacher went out.


B. The students started making noise because the teacher went out.


C. The students started making noise before the teacher went out.


D.  The students started making noise soon the teacher went out. 

50. No matter what happens, don’t forget to write to me.


A. Don’t forget to write to me because what happens.


B. Don’t forget to write to me regardless of what happens.


C. Don’t forget to write to me when it happens.

D. Don’t forget to write to me about what happens.

Part V: 51-60. Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage.

Speech is one of the most important (51)…………… of communication. It consists (52)…………… far more than just making noises. To talk and also to (53) …………… by other people, we have to speak a language, that is, we have to use combinations of (54)…………… that everyone agrees stand for a particular object or idea. Communication would be impossible if everyone made up their own language.

Learning a language properly is very (55) ……………. The basic (56)…………… of English is not very large, and only about 2,000 words are needed to speak it quite (57)……………. But the more words you know, the more ideas you can (58)…………… and the more precise you can be about their exact meaning.

Words are the (59)…………… thing we use in communicating what we want to say. The way we (60)…………… the words is also very important. Our tone of voice can express many emotions and shows whether we are pleased or angry, for instance.

51:
A. ways
B. reasons
C. rules
D. tests

52:
A. on
B. off
C. of
D. with

53:
A. be examined 
B. be talked
C. be understood
D. be spoken

54:
A. sounds
B. languages
C. talks
D. systems

55
A. important
B. expensive 
C. simple
D. easy

56.
A. word
B. vocabulary
C. grammar
D. structure

57:
A. good
B. fluent
C. well
D. perfect

58
A. grow
B. need
C. pass
D. express

59:
A. most
B. main
C. certain
D. full

60:
A. send
B. talk
C. say
D. pass

Part VI: 61-80. Read the following passages and then choose the best answer for each of the sentences bellow.

Passage A: 

Millions of people are using cell phones today. In many places, it is actually considered unusual not to use one. In many countries, cell phones are very popular with young people. They find that the phones are more than a means of communication – having a mobile phone show that they are cool and connected.

The explosion in mobile phone use around the world has made some health professionals worried. Some doctors are concerned that in the future many people may suffer health problems from the use of mobile phones. In  England, there has been a serious debate about this issue. Mobile phone companies are worried about the negative publicity of such ideas. They say that there is no proof that mobile phones are bad for your health.

On the other hand, medical studies have shown changes in the brain cells of some people who use mobile phones. Signs of change in the tissues of the brain and head can be detected with modern scanning equipment. In one case, a travelling salesman had to retire at young age because of serious memory loss. He couldn’t remember even simple tasks. He would often forget the name of his own son. This man had to talk on his mobile phone for about six hours a day, every day of his working week, for a couple of years. His family doctor blamed his mobile phone use, but his employer’s doctor didn’t agree.

What is it that makes mobile phones potentially harmful? The answer is radiation. High-tech machines can detect very small amounts of radiation from mobile phones. Mobile phone companies agree that theories some radiation, but they say the amount is too small to worry about.

As the discussion about their safety continues it appears that it’s best to use mobile phones less often. Use your regular phone if you want to talk a long time. Use your mobile phone only when you really need it. Mobile phones can be very useful and convenient, especially in emergencies. In the future, mobile phones may have a warning label that says they are bad for your health. So for now, it’s wise not to use your mobile phone too often.

61. According to the passage, cell phone are especially popular with young people because ……….


A. they are indispensable in everyday communication.


B. they make them look more stylist


C. they keep the users alert all the time.


D. they cannot be replace by regular phones.

62. The changes are possibly caused by the cell phones are mainly concerned with ………


A. the mobility of the mind and the body.


B. the smallest unit of the brain


C. the arteries of the brain.


D. the resident memory

63. The word “means” in the passage most closely means ………


A. meanings

B. method

C. expression

D. transmission

64. The word “potentially: in the passage most likely means ………


A. obviously

B. possibly

C. certainly

D. privately

65. The expression “negative publicity” in the passage most likely means ………..


A. information on the lethal effects of cell phones

B. widespread opinion about bad effects of cell phones.


C. the negative public use of cell phones.


D. poor ideas about the effects of cell phones
66. Doctors may tentatively concluded that cell phones may …….


A. damage their user’s emotions


B. cause some mental malfunction


C. change their users’ temperament.


D. change their users’ social behaviors
67. The man mentioned in the passage, who used his cell phone too often, ………


A. suffered serious loss of mental ability.


B. could no longer think lucidly.


C. abandoned his family 


D. had a problem with memory.

68. According to the passage, what makes mobile phones potentially harmful is …….


A. their radiant light.


B. their power of attraction


C. their raiding power


D. their invisible rays.

69. According to the writer, people should ……..


A. only use mobile phones in urgent cases.


B. only use mobile phones in medical emergencies.


C. keep off mobile phones regularly.


D. never use mobile phones in all cases.

70. The most suitable title for the passage could be ……..


A. “THE REASON WHY MOBILE PHONES ARE POPULAR”


B. “TECHNOLOGICAL INNOVATION AND THEIR PRICE”


C. “THE WAY MOBILE PHONES WORK”


D. “MOBILE PHONES: A MUST OF OUR TIME’

Passage B:

Traditional in American, helping the poor was a matter for private charities or local governments. Arriving immigrants depended mainly on predecessors from their homeland to help them start a new life. In the late 19th and early 20th centuries, several European nations instituted  public-welfare programs. But such a movement was slow to take hold in the United States because the rapid pace of industrialization and the ready availability of farmland seemed to confirm the belief that anyone who was willing to work could find a job.

Most of the programs started during the Depression era were temporary relief measures, but one of the programs – Social Security – has become an American institution. Paid for deductions from the paychecks of working people, Social Security ensures retired persons receive a modest monthly income and also unemployment insurance, disability insurance, and other assistance to those who need it. Social Security payment to retired persons can start at age 62, but many wait until 65, when the payments are slightly higher. Recently, there has been concern that the Social Security fund may not have enough money to fulfill its obligations in the 21st century, when the number of eldrly Americans is expected to increase dramatically. Policy makers have proposed various way to make up the anticipated deficit, but long term solution is still being debated.

In the year when Roosevelt, other American presidents have established assistant programs. These include Medicaid and Medicare; food stamps, certificates that people can use to purchase food; and public housing which is used at federal expense and made available to persons on low incomes.

Needy American can also turn to sources other than the government for help. A broad spectrum of private charities and voluntary organizations is available. Volunteerism is on the rise in the United States, especially retired persons. It is estimated that almost 50% of Americans over age 18 do volunteer work, and 70% of U.S households contribute to charity.

71. New immigrants to the U.S can seek help from …..


A. the people who came earlier.

B. the U.S government agencies.


C. only charity organizations


D. volunteer organizations

72. It took welfare programs a long time to gain a foothold in the U.S due to the fast growth of …


A. industrialization
B. modernization
C. urbanization
D. population

73. The word “ instituted’ in the first paragraph mostly means ………


A. executed

B. studied

C. introduced

D. enforced

74. The Social Security program has become possible thanks to  ………


A. deductions from wages


B. people’s willingness to work


C. donations from companies


D. enforcement laws

75. Most of public assistance programs ………… after the severe economic crisis.


A. were introduced into institutions

B. did not become institutionalized


C. functioned fruitfully in institutions.
D. did not work in institutions

76. That Social Security payments will be a burden comes from the concern that ………


A. elderly people ask for more money.


B. the program discourages working people


C. the number of elderly people grows


D. younger people do not want to work

77. Low income people can access public housing through …………


A. low rents




B. state spending


C. donations




D. federal expenditure

78. Americans on low incomes can seek help from …….


A. federal government


B. government agencies


C. state government



D. non-government agencies

79. Public assistance has become more and more popular due to the ………..


A. young people’s volunteerism only
       

B. volunteer organizations


C. people’s growing in commitment to charity     
D. innovations in the tax system

80. The passage mainly discusses ……….


A. public assistance in America


B. Immigration into America


C. funding agencies in America


D. ways of fund-raising in America.

== o0o ==

ĐỀ LUYỆN THI ĐẠI HỌC 

Part I: 1-5. Pick out the word that has the stress differently from that of the other words.

1. A. educational
B. preferential
C. administrative
D. abnormality

2. A. miraculous
B. accessible
C. technology
D. apprehension

3. A. operation
B. associate
C. revolution
D. independence

4. A. poverty
B. property
C. ability
D. industry


5. A. examination
B. determination
C. development
D. representation

Part II: 6-35. Choose the best answer among  A, B, C or D that best completes each sentence.

6. Prizes are awarded _______________ in the number of points scored.


A. according to 

B. because of

C. adding up

D. resulting in

7. Ensure there is at least a 3 cm space _______________ allow adequate ventilation.


A. so as to

B. in order that
C. so that

D. therefore

8. The old houses were _______________ down to make way for a block of flats.


A. banged

B. hit


C. knocked

D. put

9. I am not accustomed _______________ up so early.


A. to getting

B. to get

C. by getting

D. with getting

10. Mary was the last application _______________ .


A. to be interviewed
B. interviewing
C. to interview

D. interview

11. There should be no discrimination on _______________ of sex, race or religion.


A. fields


B. places

C. areas

D. grounds

12. I have bought a present for my mother, and now I need some _______________ .


A. paper wrapper
B. wrap paper

C. wrapped paper
D. wrapping paper

13. The equipment in our school needs _______________ .


A. to modernize

B. be modernized
C. modernizing       
D. being modernized

14. Many people like the slow _______________ of life in the countryside.


A. step


B. pace


C. speed

D. space

15. Andrew came to the party _______________ he hadn’t been invited.


A. although

B. despite

C. in case

D. even

16. The entrance exam is  _______________ far more difficult than the end-of term one.


A. at


B. by


C. in


D. from

17. Increasing _______________ of fruit in the diet may help to reduce the risk of heart disease.


A. the amount

B. an amount

C. the number

D. a number

18. - “ Do you feel like going to the cinema this evening?”

      - “_______________ “


A. I don’t agree, I am afraid.

B. Thank you


C. You are welcome


D. I’d love to, but I can’t.

19. _______________, he was determined to continue to climb up the mountain.


A. Tired as it was


B. He felt very tired


C. Because he felt tire


D. Tired as he might feel

20. She regretfully told him that _______________ .


A. she would leave the tickets at home

B. she has left the tickets at home

 
C. she had left the tickets at home

D. she would have left the tickets at home.

21.                          Henry Ford was a Nazi sympathizer was well known, but that hardly stopped him from displaying an astonishing ability as a businessman..

A. That

B. Because

C. While

D. Being

22. The giraffe uses its long neck                         feeding to pull down leaves and move aside 

  branches that are in the way..

A. when

B. is


C. that it is

D. was

23.  “Robert is going to be famous someday. He                       in three movies already.” 
        “I’m sure he’ll be a star.” 

A. has been appearing  


B. had appeared ``
C. appears

D. appeared 

24. “Where’s Polly?”  “She ________.”

A. is in her room studying 

B. in her room is studying 
C. studies in her room 


D. has in her room studied
25.  Flatboats ferry cars on the Great Lakes between the United States and Canada. 


A. transport 


B. pursue 


C. inspected

D.detain 
26.  Tornadoes left several Midwestern towns in a state of chaos. 


A. confusion 


B. crumb 


C. deterioration 
D. defect

27. This encyclopedia is no good: it’s completely out of 




A. time 


B. hours 


C. age 


D. date 

28. There was nothing they could do ___ leave the car at the roadside where it had broken down.



A. than



B. but



C. unless

D. instead of

29. I wrote to the company                             them for a catalogue.



A. demanding


B. applying


C. enquiring

D. asking

30. I’m sure they were                  a lie.



A telling


B making


C doing

D saying

31. You had better buy more food                   Tom and his friends come.



A. whether


B. if



C. because

D. in case

32. Nobody knows what the                of the explosion was.



A. source


B. cause


C. reaction

D. reason

33. Banks only                  money if they are sure it will be paid back.



A. borrow


B. lend



C interest

D. charge

34.
                 of the committee, I’d to thank you for your generous donation.



A. According


B. On behalf


C. In stead 

D. In addition

35. You have never been to Hanoi,                       ?


A. haven’t you


B. have you


C. don’t you

D. do you

Part III: 36-40.  Choose the underlined part among A, B, C, or D that needs correcting.

36. Many funitures in the house is not in a good condition.

                A                    B                     C              D

37. Found in the 12th century, Oxford University ranks among the world’s oldest universities.

            A                                                                    B         C                                          D

38. Although smokers are aware that smoking is harmful to their health, they can’t get rid it.

             A                           B                                               C                                      D

39. Unlike many writings of her time, she was not preoccupied with morality.

        A                B                                                         C                    D

40. Today the most popular method of pasteurization, called ‘flash pasteurization’, involves 

           A


several step, which include heating milk for 15 seconds and then immediately cooling it.

               B              C
             D


Part IV: 41-50. Choose the correct sentence among A, B, C or D which has the same meaning as the given one.

41. I  haven’t enjoyed myself so much for years.


A. It’s years since I enjoyed myself so much.


B. It’s years since I have enjoyed myself so much.


C. It was years since I had enjoyed myself so much.


D. It has been years since I have enjoyed myself so much.

42. Without your help, I can’t be successful


A. You are helpful, I like that. 


B.  Thank you for all the things you’ve done for me.


C. Now I’m successful, I will help you.


D. Thanks to your help, I have succeeded in doing this.

43. He last had his eyes tested ten months ago.


A. He tested his eyes ten months ago.


B. He hasn’t tested his eyes for ten months.


C. His eyes haven’t been tested for ten months.


D. He didn’t test his eyes ten months ago.

44. The children couldn’t go swimming because the sea was so rough.


A. The sea was too rough for the children to go swimming in.


B. The sea was rough enough for the children to go swim in.


C. The sea wasn’t rough enough for the children to go swim in.


D. The sea was so rough that the children could go swimming in it

45. “Please don’t drive so fast, Tom,” said Linda.


A. Linda complained about Tom’s driving too fast.


B. Linda pleased with Tom not to drive too fast.


C. Linda insisted on Tom’s driving on.


D. Linda grumbled to Tom about driving too slow

46. “I am sorry. I am late”


A. He said sorry because of late.


B. He complained about coming late


C. He apologized for his being late.


D. He excused because he is late.

47. We find it hard to finish the work in time.


A. It’s hard for us to finish the work in time.


B. It’s hard enough for us to finish the work in time.


C. It isn’t too hard for us to finish the work on time.


D. The work is so easy that we can finish it in time.

48. My friend said to me, “If I were you, I would tell them the truth


A. My friend said me to tell the truth.


B. My friend advised me to tell the truth.


C. My friend felt sorry for me and asked me to tell the truth.


D. My friend advised me not to tell the truth.

49. People believe that 13 is an unlucky number.


A. People are believed that 13 is an unlucky number.


B. 13 are believed to be an unlucky number.


C. It’s believed that 13 is an unlucky number.


D. It’s believed 13 to be an unlucky number.

50. It last rained three months ago.


A. It didn’t rain for three months.


B. It hasn’t rained for three months.


C. It hadn’t rained three months before.


D. It has rained for three months.

Part V: 51-60. Choose the word or phrase among A, B, C or D that best fits the blank space in the following passage.

Deep Sleep

Deep sleep is important for everyone. The actual (51) …………… of sleep you need depends (52) …………… your age. A young child (53) …………… to sleep ten to twelve hours, and a teenager about nine hours. Adults differ a lot in their sleeping (54)  …………… For most of them, seven to eight hours a night is (55)  ……………, but some sleep longer, while others manage with only four hours.

For a good night, having a comfortable (56) …………… to sleep is very important. Also, there should be (57) …………… of fresh air in the room. A warm drink sometimes helps people to sleep, (58) …………… it is not a good idea to drink coffee immediately before going to bed.

(59) …………… you have to travel a very long distance, try to go to bed earlier than usual the day before the (60)  ……………. This will help you to feel more rested when you arrive.


51. A. size
B. number
C. amount
D. sum


52. A. on
B. to
C. in
D. of


53. A. could
B. ought
C. must
D. should


54. A. ways
B. habits
C. manners
D. actions


55. A. few
B. well
C. less
D. enough


56. A. point
B. place
C. position
D. part


57. A. plenty
B. much
C. many
D. several


58. A. because
B. as
C. although
D. even


59. A. Since
B. Until
C. After
D. If


60. A. journey
B. voyage
C. call
D. visit

Part VI: 61-80. 

A: Read the charts bellow and then choose the best answer for each of the following sentences.

THE FUJITA–PEARSON
TORNADO INTENSITY SCALE
	CLASSIFICATION
	WIND SPEED
	DAMAGE

	F0
	               40–72 mph
	Mild

	F1
	73–112 mph
	Moderate

	F2
	113–157 mph
	Significant

	F3
	158–206 mph
	Severe

	F4
	207–260 mph
	Devastating

	F5
	260–319 mph
	Incredible

	F6
	31 9–379 mph
	Inconceivable


	61.A tornado with a wind speed of 143 mph would be assigned which classification?

A. F0

B. F1

C. F2

D. F3
	62. The names of the categories in the third col​umn, labeled “Damage,” could best be described as ………

A. scientific.

B. descriptive.

C. objective.

D. whimsical.




FOREST FIRES, TRI-COUNTY AREA
JUNE 2005
	DATE
	AREA
	NUMBER OF

ACRES BURNED
	PROBABLE

CAUSE



	June 2
	Burgaw Grove
	115
	Lightning

	June 3
	Fenner Forest
	200
	Campfire

	June 7
	Voorhees Air Base Training Site
	400
	Equipment Use

	June 12
	Murphy County Nature Reserve
	495
	Children

	June 13
	Knoblock Mountain
	200
	Miscellaneous

	June 14
	Cougar Run Ski Center
	160
	Unknown

	June 17
	Fenner Forest
	120
	Campfire

	June 19
	Stone River State Park
	526
	Arson

	June 21
	Burgaw Grove
	499
	Smoking

	June 25
	Bramley Acres Resort
	1,200
	Arson

	June 28
	Hanesboro Crossing
	320
	Lightning

	June 30
	Stone River State Park
	167
	Campfire


63. One week before the Cougar Run Ski Center fire, where did a fire occur?

A. Fenner Forest




B. Voorhees Air Base Training Site

C. Murphy County Nature Reserve

D. Burgaw Grove
64. According to the table, lightning fires

A. occurred at Burgaw Grove and Fenner Forest.


B. consumed less than 500 acres.

C. consumed more acres than suspected arson fires.


D. occurred more frequently than fires caused by campfires.

65. Which of the following incidents at Hanes​boro Crossing would be considered an act of nature?

A. A group of rowdy teenagers tossed a match into a tent.

B. A deer hunter lighting a cigarette acciden​tally tossed a match too close to a dry shrub.

C. An inexperienced camper filled a camp stove with gasoline and it exploded.

D. Lightning struck a tree in the forest.

HURST COUNTY TOWNS,
NUMBER OF DAYS WITHOUT
SIGNIFICANT PRECIPITATION*

TOWN             NUMBER OFDAYS
STATUS**


Riderville


38


level two


Adams


25


level one


Parkston


74


level three


Kings Hill


28


level two


West Granville

50


level three


Braxton


23


level three


Chase Crossing

53


level four


Livingston Center
45


level three

66. The status of the town with the most number of days without significant precipitation is

A. level one.
B. level two.
C. level three.
D. level four.

67. Compared to Kings Hill, Chase Crossing

A. is more likely to experience a fire.



B. is less likely to experience a fire.

C. is just as likely to experience a fire.


D. has gone a shorter period of time without significant precipitation.

DISTRIBUTION OF OCCUPATIONS
OF 200 ADULT MALES IN THE
BAIDYA CASTE, MADARIPUR
VILLAGE, BENGAL, 1914

	OCCUPATION
	   NUMBER

	farmers
	             02

	government service, clerks
	44

	lawyers
	06

	newspapers and presses
	05

	no occupation
	25

	not recorded
	08

	students
	68

	teachers
	11

	trade and commerce
	23

	other
	08


68. The largest number of men in the Baidya caste of Madaripur are involved in which field?

A. education
B. agriculture
C. government
D. publishing

69. The smallest number of men in the Baidya caste of Madaripur are involved in which field?

A. education
B. agriculture
C. government
D. publishing
70. The smallest number of women in the Baidya caste of Madaripur are involved in which field?

A. government 
B. business
C. education 
D. publishing

B. Read the following passage and then choose the best answer for each of the following sentences.

Birds that feed in flocks commonly retire together into roosts. The reasons for roosting communally are not always obvious, but there are some likely benefits. In winter especially, it is important for birds to keep warm at night and conserve precious food reserves. One way to do this is to find a sheltered roost. Solitary roosters shelter in
dense vegetation or enter a cavity – horned larks dig holes in the ground and ptarmigan burrow into snow banks – but the effect of sheltering is magnified by several birds huddling together in the roosts, as wrens, swifts, brown creepers, bluebirds, and anis do. Body contact reduces the surface area exposed to the cold air, so the birds keep each other warm. Two kinglets huddling together were found to reduce their heat losses by a quarter and three together saved a third of their heat.

The second possible benefit of communal roosts is that they act as "information centers." During the day, parties of birds will have spread out to forage over a very large area. When they return in the evening some will have fed well, but others may have found little to eat. Some investigators have observed that when the birds set out
again next morning, those birds that did not feed well on the previous day appear to follow those that did. The behavior of common and lesser kestrels may illustrate different feeding behaviors of similar birds with different roosting habits. The common kestrel hunts vertebrate animals in a small, familiar hunting ground, whereas the very similar lesser kestrel feeds on insects over a large area. The common kestrel roosts and hunts alone, but the lesser kestrel roosts and hunts in flocks, possibly so one bird can learn from others where to find insect swarms.

Finally, there is safety in numbers at communal roosts since there will always be a few birds awake at any given moment to give the alarm. But this increased protection is partially counteracted by the fact that mass roosts attract predators and are especially vulnerable if they are on the ground. Even those in trees can be attacked by birds of prey. The birds on the edge are at greatest risk since predators find it easier to catch small birds perching at the margins of the roost.

71. What does the passage mainly discuss?

A. How birds find and store food


B. How birds maintain body heat in the winter

C. Why birds need to establish territory

D. Why some species of birds nest together

72. The word "conserve" in the passage is closest in meaning to……………

A. retain

B. watch

C. locate

D. share

73. Ptarmigan keep warm in the winter by……………...

A. huddling together on the ground with other birds

B. building nests in trees

C. burrowing into dense patches of vegetation

D. digging tunnels into the snow

74. The word "magnified" in the passage is closest in meaning to……………
A. caused

B. modified

C. intensified


D. combined

75. The author mentions “kinglets” in the passage as an example of birds that….

A. protect themselves by nesting in holes

B. nest with other species of birds

C. nest together for warmth

D. usually feed and nest in pairs

76. Which of the following statements about lesser and common kestrels is true?

A. The lesser kestrel and the common kestrel have similar diets.

B. The lesser kestrel feeds sociably but the common kestrel does not.

C. The common kestrel nests in larger flocks than does the lesser kestrel.

D. The common kestrel nests in trees; the lesser kestrel nests on the ground.

77. Which of the following is NOT mentioned in the passage as an advantage derived by birds that huddle together while sleeping?
A. Some members of the flock warn others of impending dangers.

B. Staying together provides a greater amount of heat for the whole flock.

C. Some birds in the flock function as information centers for others who are looking for food.

D. Several members of the flock care for the young.

78. Which of the following is a disadvantage of communal roosts that is mentioned in the passage?
A. Diseases easily spread among the birds.

B.Groups are more attractive to predators than individual birds are.

C. Food supplies are quickly depleted.

D. Some birds in the group will attack the others.

79. The word "they" in the passage refers to…

A. a few birds

B. mass roosts
C. predators

D. trees

80. The word "vulnerable" in the passage  is closest in meaning to …

A. easy to attack


B. easy to be attacked

C. easy to give the alarm

D. easy to move around

Suggested answer:

1C 2C 3C 4C 5C 6C 7D 8A 9C 10D

11B 12B 13B 14A 15D 16B 17A 18B 19D 20A

21B 22A 23B 24A 25B 26B 27C 28D 29B 30A

31C 32C 33D 34D 35D 36B 37D 38B 39B 40A

41D 42D 43D 44D 45C 46D 47D 48A 49A 50B

51A 52C 53B 54A 55C 56B 57C 58D 59B 60C

61C 62D 63C 64B 65B 66B 67D 68D 69A 70D

71A 72A 73D 74A 75B 76C 77D 78D 79B 80A
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1C 2D 3B4 C5 C6 A7 A8 C9A 10A

11D 12D 13C 14B 15A 16B 17A 18D 19D 20C

21A 22A 23A 24A 25A 26A 27D 28B 29D 30A

31D 32B 33B 34B 35B 36A 37A 38D 39B 40B

41A 42B 43C 44A 45A 46C 47A 48B 49 C 50B

51C 52A 53B 54B 55D 56B 57A 58C 59D 60A

61C 62B 63B 64B 65D 66C 67A 68A 69B 70C

71D 72A 73D 74C 75C 76B 77D 78B 79B 80B
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